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SIMPLE INTEREST
(ATET A190)

Alends ¥ 2500 to B and a certain sum to C at
the same time at 7% annual simple interest. If
after 4 years. A altogether receives ¥ 1120 as
interest from B and C, the sum lent to C is
A~ B 2500 €94 e 3§ I C Hl H/D
TR 7% Afeieh MR &S i T € IUR 3|
qfg 4 o8 % 9% Al B 3R C ¥ el e
1120 ®99 &= & ®9 H Y« gL, a0 C Hl 39
RN S
(1) 700 (2) 6500
(3) F4000 (4) F1500

(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)
Mohan lent some amount of money at 9% simple
interest and an equal amount of money at,10%
simple interest each for two years. Ifhis total in-
terest was ¥ 760, What amount was lent in each
case?

Ed 7 /S I 9% Fftieh MR 1S 3hi
W H qAT 3 & qUIL BT TR 10% afeien e
RO &1 i & 972 98 & fou 3uR <t 399
9 HA 760 Fo AN h ®4 H Jr< KU H
fau & T Ui el

(1) ¥1700 (2) 1800

(3) T1900 (4) "¥2000

(SSC CGL Prelim Exam. 08.02:2004 (Second Sitting)
A man took a loan from a bank at'the rate of
12% per annum at simple interest. After 3 years
he had to pay ¥ 5,400 as interest only for the
period. The principal amount borrowed by him
was :

Th R Y T Sk 9 WHERO S B 12%
Atk | R R fa@n T a6 & wEE 9=
5,400 ®o I8 THIETY & fau Shae <A< & €9
T diem) oy ot T e e oft-

(1) ¥2,000  (2) ¥10,000

(3) ¥20,000 (4) ¥15,000

(SSC CGL Prelim Exam. 08.02.2004 (First Sitting)

4.

The simple interest on ¥ 7,300 from 11 may,
1987 to 10 September. 1987 (both days in-
cluded) at 5% per annum is

7,300 &, W1 5% a1fieh & & R 9 11 TE,
1987 | 10 THa=R, 1987 T (I fa wiwfeq)
1 HHRY =S fRaA1 g2
(1) ¥123 (2) ¥103
(3) ¥200 (4) ¥223

(SSC CGL Prelim Exam. 13.11.2005 (Second Sitting)
A'person borrows ¥ 5,000 for 2 years at 4% per
annum simple interest. He immediately lends it

1 :
to another person at 62% per annum simple

interest for 2 years<His gain in'the transaction is
T &Ffed 5,000%. 2 99 & fauw 4% it
FIHNU 0 H1 W SHUR oAdl §1 T8 ekl

l0
T fel g S w1 0% A WER

FEAH TR 2 o & oy S9R 2 2 81
G H IR A1 BT
(1)H-F112,50  (2) T450
(3) ¥225 4) T150

(SSC CGL Prelim Exam. 13.11.2005 (Second Sitting)
A person lends 40% of his son of money at 15%
per annum. 50% of rest at 10% per annum and

the rest at 18% per annum rate of interest. What
would be the annual rate of interest. If the inter-

est 1s calculated on the whole sum?

Toh Al 3T &FUT & 40% i 15% anfis
S B R W, Y B 50% B 10% s
T qA I B 18% aTHE T I Y IUR 3T 8
IfE /A ¥F AT W =TS Sl T HAT S, @
TSl i arfies R fhar M2
(1) 13.4% (2) 14.33%
(3) 14.4% 4) 13.33%

(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting)
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7. Manoj deposited ¥ 29400 for 6 years atasimple 11. Two equal sums were lent out at 7% and 5% S.1.
interest. He got ¥ 4200 as interest after 6 years. respectively. The interest earned on the two loans
The annual rate of interest was add up to T 960 for 4 years. The total sum lent
TN 7 29400 F. 6 T8 & AT HERO AN W out in
Wm|6aﬁm3@4zoog’mww| ﬁq{|q{W%H?|Z7%3ﬁTS%$WWW
s =1 & T - WIR GBI K0 WA A= 4 T8 H F
. ; 960 g0 2 SR & T FHot TRT TR
(1) 25% ) 2%% (1) ¥3500 (2) ¥2500
(3) ¥2000 (4) 3000
8 0 8 0
(3) 3% 4) 4—=% (SSC Constable (GD) Exam. 12.05.2013)
21 21 12. At what rate per cent per annum will the simple
(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting) 9
8. In how many years will a sum of ¥ 3,000 yield interest on a sum of money be — of'the amount
. . 5
a simple interest of ¥ 1,080 at 12% per annum? in 40 years?
. .
fobt il H 12% A < 3,000 FWY F forq anftier wfaer &t R ¥ fedt afn w10 awt
YR &7st 1,080 I B SCT2 ,
(1) 3 years/dd T R S [HHE T 3 g2
1
(2) 25 years / a9 (1) 4% (2) 6%
(3) 2years/ T (3) 5%% (4) 6%%
1 relim Exam. 24.02.
(4) 32 years /a_sf (SSC CGL Prelim E 24.02 2(.)0.2 &
2 13.11.2005 (IInd Sitting)
(SSC Data Biffty Operator Exam. 02.02009§ 13. A borrows ¥ 800 at the rate of 12% per annum
9. If a man receives onne-fourth of his capital simpleinterest and B borrows ¥ 910 at the rate
3% interest, on two third 5% and on the remain- of 10% per annum, simple interest. In how many
der 11%. the percentage he receives on the whole years will their amounts of debt be equal?
is ‘ A,/800 &. 12% afties HIHRU &N i W TN
e feorelt eert B ST TS w < W YR O F; a4 B, 910 . 10% A =
W 3% AT et €, R-feE W 5% AR 9 H W W YR o 2l A T w5 39 B
Wll%.ﬁ@%‘%ﬁﬂwwm%— & fagem se) g1 S ?
(1) 45% (2) 5% (1) 18 years/ad
(3) 55% “4) 52% (2) 20 years/3ad
(SSC CHSL DEO & LDC Exam. 04.11.2012 (TInd Sitting) (3) 22 vyears/ Y
10. The sum lent at 5% per annum (i.e. 365 days) (4) 24 years /=¥
simple interest, that produces interest. of ¥ 2.00 _ s
. (SSC CGL Prelim Exam. 04.02.2007 (First Sitting)
a day, is 14. Simple interest on a certain sum at a certain an-

T8 oA TRt ®, S 5% arfties (365 &)
HIYROT &7 1 & W 39 W 2.00 €T gfafed
w1 A Sfeld w A?

(1) ¥1,400 (2) T14,700

(3) T14,600 (4) 7,300

(SSC Multi-Tasking Staff Exam. 17.03.2013. Ist Sitting)

16
nual rate of interest is 25 of the sum. If the num-

ber representing rate per cent and time in years
be equal, then the rate of interest is
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frdt eufe T foadt afies =ret &1 R 9 9y

WW&EWW% 21 aft R i qen

ool H wHg i fefud e ot g I e
&, @ I H R R

1 1.

(1) 8% @ 1%

3) 12%% 4) 12%%

(SSC CGL Prelim Exam. 08.02.2004 (IInd Sitting) &
(SSC CGL Tier-I Exam. 26.06.2011) (IInd Sitting)

15. Out of T 50,000, that a man has, he lends ¥

1
8000 at 5 E% per annum simple interest and ¥

24,000 at 6 % per annum simple interest. He
lends the remaining money at a certain rate of
interest so that he gets total annual interest of ¥
3680. The rate of interest per annum, at which
the remaining money is lent. is

Tk STRHT 3T 50,000 ®. H ¥ 8000 & @1

1
R &1 i 55% ifier X & A 24,000°F.

6% S X ¥ IUR R 38 h] ¢ WHRT

= S TH UH e | W $HR 3 ©

TR I8 HA Rt s H 3680 ®. =19

e Bl o At <X 9 306 eA i 3uR &

T R, 9E 2

(1) 5% 2) 7%

(3) 10% 4) 12%

(SSC CGL Prelim Exam. 27:07.2008 (First Sitting)

16. Arun lends T 20,000 to two‘of his friends. He

gives T 12,000 to the first at 8% p.a. simple

interest. Arun wants to make a profitof 10% on 3.

the whole. The simple interest rate which he
should lend the remaining sum of money to the
second friends is

SFEU T 20,000 I I Il B IUR <@ R
€ UBA I I T 12,000, 8% aTfieh IO
S 1 W W I B| SFE S Rl TR W
10% 19 =Tedl €1 o7d: S§ 99 TR TR e
1 fohE WU &1 X W A A8, Mk 39
sfesa o faa w&?

(1) 8% (2) 16%
(3) 12% 4) 13%

(SSC Graduate Level Tier-II Exam. 16.09.2012)

TYPE-II

A personlent T 5,000 partly at the rate of 4 per
cent and partly at the rate of 5 per cent per an-
num simple interest. The total interest after 2
years is ¥ 440. To find the sum of money lent at
each of the above rates, ¥ 5,000 1s to be divided
in the ratio :

HiE ARK T 5,000 Fo i TR 1 H{J 91 4
yfaeg ofR oW W 5 wfed iR & R 9
R <419 T IUR 31 21 2 I8 & 9% F
TS 440, Fo 7| IWH W ¥ T TAF W AME
TE 6, 6 AT 5,000 Fo wl FAH

3 H SIeA =mEu)
(1) 4:5 (2312
(3) 5:4 ) 233

(SS€ CGL Prelim Exam. 24.02.2002 (Second Sitting)
With a givenrate of simple interest, the rate of
principal and amount for a certain period of time
is 4 /5. After 3 years, with the same rate of inter-
est, the ratio of the principal and amount becomes
5': 7. The rate of interest is

S Tl WERY &S i fRdl 9 fRdl Tty
% feU oAU den
g 4 5% oUE § 21 3 98 o IWa 39!
e H W Y YAHA K fHHEE W S S
7% ST @1 S i ST R~
(1) 4% Q) 6%
(3) 5% @) 7%

(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)

Ratio of'the principal and the amount after 1 year
is 10: 12. Then the rate of interest per annum is

afz e SR W W T o B e % A%
% e 1 e U 10 : 1281, @ arfties =&
1 R feRat ghft?

(1) 12% 2) 16%
() 18% 4) 20%
FCI Assistant Grade-III Exam. 05.02.2012 (Paper-I

East Zone (IInd Sitting)
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In a certain time, the ratio of a certain principal
and the simple interest obtained from it are in
the ratio10 : 3 at 10% interest per annum. The
number of years the money was invested is

10% =ftier == &1 R § forsdll fafv=a w7 &
9% TH FIfYEd gaed 8k RO s o
U 10 : 3 ol fewn feu U o1 &1 e@fy
fopa T oft?

(1) lyear/d% (2) 3 years/dad

(3) Syears/d8 (4) 7years/ad

(SSMTS (Non-Technicdl) Exam. 20.02.2011)
T 12,000 is divided rts so that the

simple interest on the first part for 3 years at 12%
per annum may be equal to the simple interest

1

1
on the second part for 4 5 years at 16% per an-

num. The ratio of the first part to the second part
is

¥ 12,000 1 ¥URT & A A9 H 3H FER
dier T 2, o uEel W w1 3 TulRT 2%

ek i W W HHRT =S, T H0L 4%

TN & 16% TGS I SHHIHERT &8, 5
SeX | TEIER, TEA 9 SR GE W
UREeh SIquTd TRl 22
(1) 2:1 2) 1:2
(3) 2:3 @) 3:2

(SSC CHSL DEO & LDC Exam. 28.10.2012, Ist Sitting)
Ifx, y, z are three sum of money such that yis the
simple interest on x and z1s the simpleinterest ony

for the same time and at the same rate of interest,
then we have

g x, y, z A GRTET, 30 TR BT E 16 Th
g ety foy, © S

HIURT S FIERY &6 3 W, y, x o IR
W@W%ﬁ?z,y@

IR TS & SR o7 o Sel ¢, qEqeN,
e o T wE #?

(1) z2=xy (2) xyz=1

() x*=yz “4)

(SSC CHSL DEO & LDC Exam. 10.11.2013. IInd Sitting)

y? = zX

7.

3.

If the ratio of principal and the simple interest
for S yearsis 10 : 3, then the rate of interest is :

af% gt ¥ SR 5 96 & s i S 10
3%, @ AW H R N D?
1) 5% 2) 6%
G) 8% @) 3%

(SSC CHSL (10+2) LDC, DEO & PA/SA Exam. 15.11.2015
(IInd Sitting) TF No. 7203752)

TYPE-III

In how many years will a sum of money double
itself at 12% per annum?

T HAART 12% aifties & 1 & | foha
FH AT B OSTE?

(1) 8 yrs. 6 months / 8 a8 6 W&

(2) 6yrs. 9 months / 6 a8 9 WEH

(3) 8yrs. 4 months /8 Y, 4 W&

(4)»Zyrs, 6 months/7 98, 6 FEMH

(SSC CHSL DEO & LDC Exam¢?21.10.2012 (IInd Sitting)

41 1
A’sum of money becomes 20 of itselfin  years

at a certainrate ofisimple interest. The rate of inter-
estper annumis

ﬁéwﬁwwmﬁ%a@%aﬁ

. . 41
H w w g STt 71 A s A R
F
(1) 10% Q) 1%
() 2.5% @) 5%
(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)

A sum of money at simple interest trebles itself
in 15 years. It will become 5 times of itself in

HE o1 R FER0 A 9 15 98 § o |
A Tl Wl B R wHa | 98 o W 5
T B Se?

(1) 40 years /ad

(2) 36 years/ad

(3) 30 years/ad

(4) 25 years/ad

(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting)
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If a sum of money at simple interest doubles in
12 years, the rate of interest per annum is

Ifg YR & W iz o qET 12 T9 9
T @ Sl @, iR s bt X gi-

2
(1) 165% @) 75%

1
(3) 8% ) 10%

(SSC CGL Prelim Exam. 27.07.2008 (First Sitting)
A sum of money at a certain rate per annum of
simple interest doubles in the 5 years and at a
different rate becomes three times in 12 years.
The lower rate of interest per annum is

HIE HANT ERV S Hi fhRd A X |
5 of o g 8 W @ A e e W H 12
a9 o f & S R1 RH ST ) anfties X
F

(1) 15% (2) 20%

3) 15%% 4) 16%%

(SSC CGL Prelim Exam. 27.07.2008 (Second Sitting)
A the rate of simple interest per annum. the in-
terest on a certain sum of money for 10 years

2
will be 3  part of amount, then the rate of simple

interest is

yfaes WU <N 8 W, feEr aftn W, fed
[T W 10 o9 ° THed e = 39 Uiisht

2

g HIT gﬁ"T, a
RO &S <L TR € 2
2 0
(1) 5% 2) 65 %o
l 0
(3) % () 4%
(SSC CGL Tier-1l Exam. 2014 12.04.2015
Kolkata Region) TF No. 789 TH 7)
The simple interest on a sum of money is — of

25
the sum. If the number of years is numerically half

the rate percent per annum. then the rate percent
per annum is

@W@TWEWWWT@TW%%I
gfg o8 i 9= gfd 98 R Sl yfavd 9
e €9 9§ onefl 7, @ ufd v R @ ?
(1) 5 () 8

1
3) o7 4) 4

(SSC CGL Tier-IT Exam. 25.10.2015. TF No. 1099685)
What should be the least number of years in

. . . 2 V]
which the simple interest on Rs. 2600 at 65 %o

will be.an exact number of rupees ?

3T 9 Sl =AqH HeA w1 B S 2600

2
FIC R 6% T T HHURO S B T

FOA 1 qeqed N e gl Smut?
(1) 3 @ 2
G) 5 (#) 4

(SSC Constable (GD) Exam. 04.10.2015. IInd Sitting)
In certain years a sum of money is doubled to

1
itselfat 62% simple interest per annum. then

the required time will be

. 1
o ol 7 T i 62% yfaes & |1y
RO &6 WA &S ?

1
(1) 16years/3d  (2) 125 years / I8

2
4) 105 years / I8

(SSC CGL Tier-I Exam. 09.08.2015
(Ist Sitting) TF No. 1443088)

(3) 8years/TH

TYPE-1IV

The simple interest on a certain sum of 5% per
annum for 3 years and 4 differ by ¥ 42. The
sumis :
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et Tfer R 5% wifties #1 W 3 T 3R 4 A1 16 TFRTT <X T WERY =191 o SR &, @

Tl o 9 HERO S § 42 ®o 1IN 2 T A BIM-

98 fn 2~ (1) ¥8,000  (2) ¥6,000

(1) 210 (2) F280 (3) ¥7,000  (4) ¥7,500

(3) T750 (4) T840 (SSC CGL Prelim Exam. 27.07.2008 (Ist & IInd Sitting)
(SSC CGL Prelim Exam. 04.07.1999 (First sitting) 5. T he difference between the simple interest re-

A sum of ¥ 1750 1s divided into two parts such
that the interest on the first part at 8% simple
interest per annum and that on the other part at
6% simple interest per annum are equal. The in-
terest on each part (In rupees) is

1,750 €9 1 Tk TR & 90 H 36 ThR
faafe &1 STt @ R TR 9 W 8% HI W
T aifties GRS SR TR T R 6%
[ W Itk RO s SR E| dE G
9 W AN (FE )R-
(1) 60 (2) 65
(3) 70 (4) 40

(SSC CGL Prelim Exam. 24.02.2002 (Middle Zone)
A sum of ¥ 1500 is lent out in two part in two
parts in such a way simple interestonone part at
10% per annum for 5 years is equal to that on

another part at 12.5% per.annum for 4 years.
The sum lent out at 12.5% i1s":

1500 ®. ! 3 ¥ARNIT 91N H 3§ TR 39
R & 9Tt § R AT T 10% it T T H 5
U HT WO A TH HA W_12.5% Afieh
F WY 4 TN B GEN A b GG
12.5% R ¥R § T8 T 2-
(1) ¥500 (2) ,T1000
(3) ¥750 (4) 1250

(SSC CGL Prelim Exam. 13.11.2005 (First Sitting)
If ¥ 12,000 1s divided into two parts such that

the simple interest on the first part for 3 years at
12% per annum is equal to the simple interest

1
on the second part for 4 5 years at 16% per an-

num. the greater part is

7fg 12,000 €. 1 &R Bl TH 3 901 H oiar
W, dffer 98l 9T & 3 99 1 12 Sfavd

ek W H HERO A6 TR AT 6 4%6@

ceived from two difference banks on ¥ 500 for
2 yearsis T 2.50. The difference between their
(per annum) rate of interest is :

T fu= Sl ¥ T 500% 2 o9 ¥ Ww W o
TIEROT =TS 6l SR T 2.50 81 SThT <A
MR A H1 SN T

(1) 0.10% (2) 0.25%

() 0.50% (4) 1.00%

(SSC CHSL DE© CHSL DEO & LDC Exam. 27.11.2010) & (SSC CHSL

DEO & LDC Exam. 04.11.2012)
The simple interest on ¥.4,000 in 3 years at the
rate of x% per annumequals the simple interest
on ¥ 5,000 at thesrate of 12% per annum in 2
years. The valué of x is
X% 1 i aW g 9§ T 4,000 F1 3 9 FT Y
RO &18, 12%3f0 a9 & W H T 5,000 W 2
o RTTHRY A % e 21l x HHE §-
@) 10% (2) 6%
(3) 8% 4 9%

(SSC GL Tier-I Exam. 19.05.2013 Ist Sitting)
A sum of ¥ 2,400 amount to ¥ 3,264 in4 years
at a certain rate of simple interest. If the rate of

interest is increased by 1%. the same in the same
time would amount to

T 2,400 Sl SURT, MURY A9 L W 4 T8
H ¥ 3,264 8 WA B qEIER, A% AN ) A
1% 1 3fg & < 9, q@ @1 i a9 &
g9g | feradt 81 Su?

(1) ¥3,288  (2) 3,312

(3) 3,340  (4) 3,360

(SSC MTS Exam. 24.03.2013. Ist Sitting)

The simple interest on a sum of money is 9 of

the principal and the number of years is equal to
the rate percent per annum. Ther rate per an-
num is :
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10.

I1.

ferdt TR <R RO <A gAUE H g 21 af

I R T SHae goieE & sty & 99,
T i dlfteh & o e Bl d1 oA bl I
w1 27

2
(1) 5% (2) 65%

1
3) 6% ) 7%

(SSC CGL Prelim Exam. 27.02.2000 (Second Sitting)
T 500 was invested at 12% per annum simple
interest and a certain sum of money invested at
10% per annum simple interest. If the sum of
the interest on both the sum after 4 years is
480, the latter sum of money is :

500 €9 HI Th NN 12% arftieh HIER
IS 1 < Y AT 1 Sl @ qe Th 3 9
T 10% nfiies
YR &S 1 W FafE @ SRl w9l 4
Y 9% IE LRI W W Het SN 480, TT
g, @ o= uR 2
(1) 450 (2) 750
(3) T600 (4).47550

(SSC CGL. Prelim Exam. 11.05.2003 (First Sitting)
A money lenderfinds that due to fall in the an-

: 30/ 1. .
nual rate of interest 8% to 7 3 7. his yearlyrin-

come diminishes by ¥61.50. His capital 1s
TRl R I A o @ fempeifiis, <

| R 8% AME I 7%%arsia;waﬁ@

39! AR W M H IR AR I H
61.50 ®T4 HI HH A T B| SHBT Yol -
(1) ¥22400  (2) ¥23800
(3) ¥24600  (4) F26000

(SSC CGL Prelim Exam. 11.05.2003 (First Sitting)
A man loses ¥ 55.50 yearly when the annual
rate of interest falls from 11.5% to 10%. His
capital (in rupees) is
Aqftieh =S 1 & 11.5% ¥ 10% ® 1 T

12.

13.

14.

15.

el =feR H1 55.50 94 AR h1 BT BT
T IgH O (T H) €
(1) 3700 (2) 7400
(3) 8325 (4) 11100

(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)
If the annual rate of simple interest increases

1
from 10% to 125% , man's yearly income in-

creases by ¥ 1250. His principal (in repees) is

1
WY TSl Sl aSes € 10% o 125% 7

S W, fret =afe 1 aiftier 3@ 1250 ®o
e Sl 21 TR qEEd (w0 H) R
(1) 50,000 @) 45,000
(3) 60,000 (4) 65,000

(SSC CGL Prelim Exam. 08.02.2004 (Second Sitting)
Arsum of money wasléntat simple interest at a
certain rate for 3 years. Had it been lent at 2.5%
per annum higherrat, it would have fetched ¥
540 more. The money lent was :

I o1 [ WER0 &1 $t fhed /W W3 99
% fou 3urR < i afs 38 2.5% arfie aify
FH & W IUR fear 7 B d T 540 e
TS 9T, BTl SR & T [l eff:

(1) T6400 (2) T6472

(3) T6840 (4) 7200

(SSC CHSL DEO & LDC Exam. 27.11.2010)
A sum was lent at simple interest at a certain
rate for 2 years. Had it been lent at 3% higher
rate, it would have fetched ¥ 300 more. The
original sum of money was :
Th TR fordl S W HERO e W 2 96 h
o Sur &t Wi et A 3E 3% fue W W
3IUR feon T Blar @ SEd 300 ®UC SR
firerl ot TRT e o2
(1) ¥5000 (2) 6000
(3) ¥7000 (4) 4000

(SSC Multi-Tasking Staff Exam. 10.03.2013)
The rate of interest per annum at which the total
simple interest of a certain capital for 1 year is
equal to the total simple interest of the same capi-
tal at the rate of 5% per annum for 2 years, is
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IfE fordll &I 1 Tk 9 I SH AR A,
ST oI & 5% A1fteh I W W 2 T D Hd
HHRO &S % SR 8, A T8l oS hl
fopalt & 2

5
1y % 2) 10%

() 25% 4) 12.5%

(SSC Delhi Police S.I. (ST) Exam. 19.08.2012)

TYPE-V
1. A certain sum of money amountsto ¥ 756 in2

1
years and to ¥ 873in 3 5 years at a certain rate

of simple interest. The rate of interest per an-
num is

iz YT WO TS ki fohd] < H 2 oo

T 756 93 B S @ aen 3% ot § 873 ®

= Sl }1 St s 1 ST -

(1) 10% 2) 11%

(3) 12% 4) 13%

(SSC CGL Prelim Exam. 11.05.2003 (Second Sitting)

2. A sum of money lent out at simple interest

amounts to ¥ 720 after 2 years and to ¥ 1020

after a furtherperiod of S'yeats. The sum is :

HIHROT 1S 9L g ST 2 &6l < &5 720, o

B S € qer 5 SR S I % % 1020 %o

B S ¥ 9 e €

(1) 500 (2) “¥600

(3) 700 (4) T710

(SSC CGL Prelim Exam. 08.02.2004(Second Sitting)

3. Asum ofmoney amounts to ¥ 5,200 1n 5 years

and to ¥ 5,6801n 7 years at simple interest. The

rate of interest per annum is

S o1 TR TR0 A | 5 a9 H 5200 F,

a7 o8 H 5,680 ®. B ST ¢ At oA

H W B-

(1) 3% 2) 4%

3) 5% 4 6%

(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)

4.

A sum of money at some rate of simple interest
amounts to ¥ 2,900 in 8 years and to T 3,000
in 10 years. The rate of interest per annum is
I AR MR &S 61 fRe X 9 8 T
H 2900 ®IT T 10 T H 3000 FIC B MG
21 oiftfeh =TS BT T -

(1) 4% @) 2%%
3) 3% ) 2%

(SSC CPO S.I. Exam. 09.11.2008)
At the same rate of simple interest sum of the
interest of ¥ 300 for 4 years and the interest of
T 400 for 3 yearsis ¥ 120. The rate of interest
is
Teh HHH HEN0 &S ki W W 300 ©IC I
4 oo ST ST 400 TUT KT 3 T P AT
AR 120 ®YC €1 TEER, SATS| 1 X femal
27
(1) 5% 2) 4%
(3) 6% 4) 10%
(SSC MTS Exam. 10.03.2013. Ist Sitting : Patna)
A certaift sum of money lent out at simple inter-
est amountsito ¥ 1380 in 3 years and T 1500 in
S+ears. Find the rate per cent per annum.
T HUE, HER0 &6 W SER & W 3 99
.7 1380 R 5 @i # T 1500 @ WA R
AIUR, AT 1 diftieh <X fehae g ® ?
(1) 3% 2) 3.5%
(3) 4% 4 5%
(SSC MTS Exam. 17.03.2013. Kolkata Region)
What sum of money well amount to ¥ 520 in 5

years and to ¥ 568 in 7 years at simple interest
l’)

SH-F ST ER S @ 5 9w ¥ 520
T SR 7 oau § 568 ®IA 7 SIWA?
(1) F400 (2) T120
(3) ¥510 (4) 220

(SSC CGL Prelim Exam. 11.05.2003 (First Sitting)
If Rahim deposited the same amount of Rs. x in
a bank at the beginning of successive 3 years
and the band pays simple interest of 5% per an-
num. then the amount at his credit at the end of
3rd year will be :
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gfe WA HiFk d9 a9 & S H§ J9H |
X BIT T §k H o L@ ¢ R IH 5%
Hfeers T W] &S 341 7 1 deR ad & 31

4 3¥s @ § fomat uin g 4.
861x 1261x

(1) 100 (2) % 400
21x 26481x

3B) X >0 @) X 2000

(SSC CHSL (10+2) LDC, DEO & PA/SA Exam. 15.11.2015
(IInd Sitting) TF No. 7203752)

TYPE-VI

1. The effective annual rate of interest, correspond-
ing to a nominal rate of 6% per annum payable
half yearly, is :

S ! JTE d1fier I, S erdarfie euR
W Y 6% Afier 1 ARG I Y Wl @ ®,
2

(1) 6.06% (2) 6.07% 5

(3) 6.08% (4) 6.09%
(SSC CGL Prelim Exam. 13.11.2005 (First Sitting)
2. Ramesh deposited ¥ 15600.in-a fixed deposit at
the rate of 10% per annum. simple interest. Af-
ter every second yeat, he adds hisinterest €arn-
ings to the principal. The interest at the end of
fourth year is
THI A 15600 &, HIHEOT <41 b1 10% vk

R Tl Teh FEfe S o S | SR o

g i 9 Fia TR 98 Joaed o fHen, 341 2
IGHT DY T o < H e oiell oAl BI-
(1) T1716  (2) 1560
(G) 3432 (4) TI8T2

(SSC CGL Prelim Exam. 04.02.2007 (Second Sitting)

3. A person who pays income tax at the rate of 4

paise per rupee, find that a fall of interest rate

from 4% to 3.75% diminishes his net yearly in-
come by ¥ 48. What is his capital ?

T i 4 T8 U0 ®IC HT L W S R
2 TE U T R WS W W 4% § T
3.75% Bl ST W 3! & a6k 3T T 48
+A g SO SHRT geit Rt 22

(1) ¥24,000 (2) ¥25,000
(3) ¥20,000 (4) ¥18,000

(SSC CHSL DEO & LDC Exam. 04.11.2012. IInd Sitting)
Nitin borrowed some money at the rate of 6%
p.a. for the first three years. 9% p.a. for the next
five years and 13% p.a. for the period beyond
eight years. If the total interest paid by him at
the end of eleven years is T 8,160, the money
borrowed by him (in ¥) was
ff 3 3 o 31 Ted 99 9w & fou
6% Ttk TSl hl W IHR ol SR o8
Tfer st o oWt & ferw 9% afde = W
3§ T H W 13% Afw A W @
TEIAR Al 39 TINE oo 918 | T 8,160
S 1 T A E, W IERT SUR A T
RUNBETE R
(1) 12,000 (2) 6,000
(3):8,000 (4)1.10,000

(SSC FCIL Assistant Grade-11I'Main Exam. 07.04.2013)

What annual installment will discharge a debt
of ¥ 6450 due in 4 years at 5% simple interest ?
6450 T @1 VN, 5% dNfieh TN TS 1 TL
Y fepet ftish/ TRvd IR 4 T H TR S
qhHa & ?
(1) ¥1500 (2) T1835
(3)»F1935 (4) F1950

(SSC CGL Prelim Exam. 13.11.2005 (Ist Sitting) &
(SSC CGL Tier-I Exam. 16.05.2010)
T 1,000 is invested at 5% per annum simple
interest. If the interest is added to the principal
after every 10 years. the amount will become ¥
2,000 after
1,000 &. =1 & TR 1 5% aftier AER =&
* W H Frefd fra mn ?1 A g9 10 99
9% A ! goaud § wfmfad o fean sm @,
T 2,000 &, 1 Fqged fhd 993 918 9 grm?
(1) 15years/a4  (2) 18 years/ @d
(3) 20 years/ad

2
4) 165% years / I8

(SSC CGL Prelim Exam. 04.02.2007 (First Sitting)
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7. Ram bought a bike for ¥ 60,000. He paid ¥ 8. Aboyaged 12 yearsis left with ¥ 100,000 which
10000 cash down and the rest at the end of 2 isunder a trust. The trustees invest the money at
years at 15% simple interest. How much more 6% per annum and pay the minor boy a sum of
did he pay as simple interest ? T 2500. for his pocket money at the end of each
T 9 60,000 €9 H TH dEH @RI 36 year. The expenses of trust come out to be T
10,000 &3 ehs, A fohd R 9% 2 o9 % 500 per annum. Find the amount that will be
a o 15% TR0 Sarsl TN 39 IR ST handed over to the minor boy after he attains the
e~ 5 age of 18 years.
j)?ﬁ;;;(;:;«iwqwmﬁq@. w1278 % wed B fow 1w e v
’ T, S Tk I o ST ol 39 URT A 6%
(2) 25,000
(3) 35,000 wfd = & < 9 e o f qen e
’ 9 & 3fd H 2500 €@ 3Eh @ @I & A
(4) 50,000
(SSC Constable (GD) Exam. 04.10.2015. IInd Sitting) ﬁ{_":ﬂ W T TP Ersf i3 -@ﬁ 500 Kq?}l %l S¥
TR [ A AT H 18 TH B I
H SRl et THT?
(1) ¥120000 A2) T150000
(3) ¥1180007 (4) F125000
(SSC/CHSL (10+2) LDC, DEO & PA/SA
Exam. 06/12:2015.(Ist Sitting) TF No. 1375232)
Answer Key
TYPE-L TYPE-IV
. 4 2 & 3. 44 B)S. 3) . @2 ()3, 3)4 ()5 (@2
6. (3) 7. (1) 8. (1)9 (2) 10.Q3) 6. )7 (4 8 (2)9. (3) 10. (3)
11. 3) 12. (4) 13. 3) 14. (1) 15. 3) 114 (1) 120(1) 13. (4) 14. (1) 15. (2)
16. (4)
TYPE-V
TYPE-II 1o 2. 2 3. B4 @5 )
L2 2 33 @4 25 @) 6., (4) 7. (1) 8. (¥
6. 4 7. (2
TYPE-VI
TYPE-III 1. @ 2. @) 3 34 35 )
L3 2 D3 34 G5 6. 4 7. (1) 8. (3
6. 2) 7. 2 8 (19 1)
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